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, SERMOTIRICHET S TH aER A
ﬁg TREOBBOEILHIOKRES TREDOHBESSLADKRES TREOBBOSILEIDOKRES TREOHBESSLADKRES
R e | BT R | B2 | e | e | B2 | BT e | B2 | TR | & | e
’ 100kN/mM%E#BZ 5 -l -~ - -|3m%Ei#BZ5 -~ - - —-| 100kN/mM%#8% % - -~ - —-|3mx#Z5 -~ - - -
s 1.00/0.00 ~ 6.90 87.45| #hLls |0.00 ~ 0.00| 1.62 8.66 s 1.00] 5.00 ~ 9.07 87.45| =nLst | 500 ~ 9.07| 1.62 8.66
9 100kN/ Mm% 5 -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%#8% % - -~ - —-|3mx#Z5 -~ - - -
s 1.00/0.00 ~ 7.55 96.60| =Ll |0.00 ~ 0.00| 1.57 8.38 s 1.00] 5.00 ~ 11.77 96.60| =nLst | 500 ~ 11.77| 1.57 8.38
3 100kN/mM##8 %% 1.00{0.00 ~ 045 106.60| 3m*x % % -~ - - —| 100kN/mM%Z#BZ % 1.00] 10.70 ~ 12.02 106.60| 3m#%#BZ % -~ - - -
s 1.00/045 ~ 8.23 100.00f Z=h st |0.00 ~ 8.23] 2.10 11.24 s 1.00] 5.00 ~ 10.70 100.00| =hList | 500 ~ 1202 2.10 11.24
A 100kN/m%# 2 % 1.00[{0.00 ~ 0.22 103.24|3m%EBZB| - ~ - - —| 100kN/mM%#8% % 1.00[ 11.01 ~ 11.69 103.24|3m%E#B2 % -~ - - -
s 1.00]0.22 ~ 8.01 100.00f Z=hl4t+ |0.00 ~ 8.01] 2.05 10.96 s 1.00] 5.00 ~ 11.01 100.00| =hList | 500 ~ 11.69] 2.05 10.96
5 100kN/mM%BZ 5 -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%#8% % - -~ - ~-|3m&x#Z5 -~ - - -
s 1.00/0.00 ~ 748 95.52| #hLls |0.00 ~ 7.48| 1.94 10.38 s 1.00] 5.00 ~ 11.36 95.52| =nLst | 500 ~ 11.36] 1.94 10.38
6 100kN/m##8 %% 1.00]0.00 ~ 0.61 109.03| 3m%*#BZx % -~ - - —| 100kN/mM%Z#BZ % 1.00] 11.42 ~ 13.64 109.03| 3m#%#BZ % -~ - - -
s 1.00]0.61 ~ 8.39 100.00f Zh st 10.00 ~ 8.39| 2.01 10.73 s 1.00] 500 ~ 1142 100.00f Z#hList | 500 ~ 13.64| 2.01 10.73
7 100kN/m##B %% 1.00{0.00 ~ 0.63 109.40| 3m%*x % % -~ - - —| 100kN/mM%Z#BZ % 1.00] 1257 ~ 15.59 109.40| 3m%#BZ % -~ - - -
Lo 1.00/0.63 ~ 842 100.00f Z=h st |0.00 ~ 8.42| 2.10 11.25 Lo 1.00] 5.00 ~ 12.57 100.00| =h Ll | 500 ~ 1559 2.10 11.25
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ st ~
100kN/ MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ st ~
100kN/mM%#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ st ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/M%#28 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zh st ~ zhs ~ zhst ~ st ~ |
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